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1332* m w w n: m
*mm  ^  s?n% %

(^ ) *«rrfasn: ^  w tt  fqm  
Trnff T̂Tcft | ;

(*a) *rfc ft, <fr w  fafiT % 
w #  *  t fs t  % fq*®£<T*r «pt ^  
% fNr* r̂̂ star ^  zffaFrr far

t ,  *rfe $r, jftsrsrr t o  t̂ft' 
*srr

(*r) 5*  srrt ^  %?sta *rc*n: *pV

tftorcT *r*rm w x m  w ft ( « f t  
*frfon ) . (* )  aft 1

( * )  fa?r* tts*  % ftraifq?r^t 
^7 ^n?r % ftw  w  *r?ft ? m  $ * t  *r$ 
gyfr #  TOffiO *rfcWT 5STFfT»T 
*r$r | 1 fa r  *ft f*rwi«OT % *n*r# <rr 

= r̂f *ftr srrjfY Tt
^ r  | 1

(*r) spff ^  j

fl^rir tmitan *tanf?flr ffifT*Tcfr *rftrf?r 
i m  fen  «wt ^«tt* 

1333. * ^ w r m r  w i t ?  w
'dfir f«n ftp:

(v)
K- . *v̂ ..... —l#s -̂ . 2̂  mmLJBW m  ^Rfcfi « t r  snr *r <$15 

s rfM ¥sr*F*s*T 3*1%  f ^ r r  *rr ;

(m) ® r f t f f t ,? f t w s r f a f a f w w  
; *rtr

(«r) *ifa $t, ?ft ^©r si?f
«wr | fliBpBr qf <rcvrc <Rt w r
tot srfMMnr % ?

n^fifcrm* *  (vfn^no vpr«
) . (*7) 3ft «Thrr®ir 1

(sr) tf\x (*t). smrefar m  ff+gpa v m  
% *rm*rr i: tffcr tror^  ^  *n*r 

vfcm % «n 1 
f̂tsar 3fRt T̂rT % firq f?: sprjt W  
r̂r •

HTffsV W m  V f«wrw q? f?tiT T ti
v  »nssr <fitJT vt smrw

1334 xm\m\x 
f«WT?T k\t. sMf<T«rr «r^ ^  ?̂rr% art 
ffrr ^rif H  :

(*F) SRT ^ZPT ?T5T^ m w  
^ ^ % i^5r«r'V^V' ?itto torR-ir# 
Jtcr t  # l^m rsr ^ srr^frf^r 
tps^t m to *  55T^ri? im  m tft 
spr ctm srrfr^r
n̂*Rrr fro ff  t̂ r ^  ^Tfcf

ITT ̂  % *T3?f ̂  ’tTRPPRJcrr 'TT 5rV ftflT
t  ; «At

(sr) ^ f r ^ a n r t f l w r  
qpV «rt W W  | ?

^PNftfw ^wrm ftirpr titx 
«Nt (ift fO T R R ):

(«r) ?̂r %srn>f?r̂  w ^nft n̂wwr 
^t Ppphet v f  |

( * t )  ^ t ^ m r  % f^rrc
^ q^r ?RTT-Wr^T ^  WT f^TT 
fsnrw span: «n^?wciT ̂ Wlr; ^  Prsw 
fW rcnj^ 1 1




